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1 |dbiEE 1.2E+4 11,730.5
2 |EHE 3.7E+3 3,744.1
3 |BFR 7.9E+3 7,864.0
4 |EHE 4.2E+3 4,190.3
5 [FEE 1.4E+3 1,390.0
6 (LB 4.6E+2 463.8
7 |EBE 4.7E+3 4,667.0
8 |ZHE 1.8E+4 18,213.8
9 [HAE 1.3E+4 12,577.4
10 |BERE 1.0E+4 9,959.4
11 |J/ER 6.4E+3 6,398.2
12 |FER 9.7E-1 1.0E+4 10,388.4
13 |REE 1.0E+4 10,063.3
IR RIS 2.7E+3 2,709.5
15 |[FiRE 5.0E+3 4,965.2
16 [ZELE 1.9E+3 1,873.9
17 |BINE 5.2E+2 520.6
18 [fBHE 3.0E+3 2,977.8
19 [LLEIE 41E+3 4128.7
20 |[REHE 2.0E+3 2,025.4
21 [IFRR 4.3E+3 4,271.0
22 |ERRR 3.9E+2 3.6E+3 4,025.0
23 |EmE 9.6E+0 1.3E+4 12,713.2
24 |=ZER 3.7E+3 3,702.3
25 [HER 2.4E+3 2,401.2
26 |TRERAT 1.7E+2 170.4
27 | KB AF 4.2E+3 4.210.0
28 |[EER 7.2E+3 7,165.4
29 |ZRE 1.2E+3 1,163.3
30 [F0FRLIE 6.8E+1 6.4E+2 708.3
31 |BRE 3.0E+2 296.0
32 |BRE 1.2E+4 11,709.4
33 |EWE 3.8E+3 3,757.9
34 [LBR 1.8E+3 1,767.4
35 [lwOg 8.5E+1 84.8
36 |[RER 2.0E+2 202.5
37 |BIIR 5.6E+2 562.3
38 [BIER 1.8E+3 1,822.5
39 |[EHIR 3.4E+1 335
40 [ERR 1.2E+1 4.7E+3 47437
M |[EER 1.5E+2 147.2
42 |RIGE 2.7E+1 26.9
43 [BEAXRIR 1.0E+2 2.3E+2 330.6
44 | KHE 3.7E+2 368.4
45 |=iHE 2.6E+2 260.3
46 |EEBE 3.8E+2 379.9
47 [hER 6.1E+2 1.0E+3 1,618.0
ESE 1.2E+3 1.9E+5 189,492.7
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